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p-9 g 1.10 z=xzVy z=xIVy
p24 | 300 (z@y)V (z@z)V -
p.31 O (25)00 F(0,0,0)(z vy V) F(L,0,0)(ZVyV2) (F(0,0,0VaVyVz)- (F(10,0VEVyVz)
F(0,L,0)(z VgV e) F(LLO)ZVHV2) (F(0,1,0VaVgVz) - (F(LLOVEVEV2)
F(0,0,1)(zVyVZz)-F(1,0,1)(ZVyV3) (F(0,0,1)VaVyVE)- (F(1,0,1)VEVyV2)
FO,L,1)(zVygVvz)-F(LLD)(EVYVZ) (F0,1,1)VaVgVE) - (F(LL1)VEVEVZ)
p.48 0O 3(1) TDYD2 DYz
p-50 0O (3.3)300 = 2F(L,y,2)V (@F(0,y,2) VEF(0,y,2) | =2F(1,y,2)V (@F(0,y,2) vV ZF(0,y, z)
p.-54 031000000 O fed o O fed —
p-57 O (3.16) 200 =H(F(z,y,2),G(z,9,2)) = F(G(z,9,2), H(z, 7, 2))
0 (3.16) 300 = H(Fy(z,y,2),Ga(z,y, 2)) = F(Gy(z,y,2), Ha(z,y, 2))
— Ha(Fa(w,,2), Ga(w,5,2) | = FalGalw,y, 2), Ha(w,, 2))
p-58 00 (2) 1060800 ogoood goooao
00 3)400 = F(G(z,y,2),H(z,y,2z) | = F(G(z,y,z2),H(z,y,z))
p-59 033000ood ogoood ogoooo
p.65 00 (2)20400 ogoood ogoooo
p-82 ooos500 Quine-McClusky Quine-McCluskey
p-87 0 (4.6) (BvC)-(AVD)AVB) | (BvVC)-(AvD)-(AVB)
04700 (BvC)-(AV D) (BVC)-(AvD)-(AV B)
p-90 0 4.1204.13
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ogoad goooobooo
p-91 O 4.14
700
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p-98 oo ooad U1V T1us U1 V Tousg
p-98 0 4.19 X423 ToXq
p.106 |0 1(1)100 Mgj(x1, 2, 3, 4, X5) Mj(z5, 24, T3, T2, 1)
01(2)100 Hy (w1, w2, 23,24, 75) Hy(ws, 24,23, 22,71)
013100 Mgj(z1, 22,23, 24,25) O | Moj(xs, x4, 23, 22,21) O
Mgj(z1,22,23,24,0) O | My;(24,23,22,21,0) O
Mj(z1, 22,23, 24,1) O | My;(x4,23,22,21,1) O
014)100 Hy (w1, 2, 23,24, 75) Hy(xs, w4, 23,72, 21)
01(4)200 Mej(x1, 22, 23,74, T5) Mg (x5, x4, 3, T2, 21)
p-107 |:|4(3)3|:]|:] goobooooooooa gooooooooooda
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